More Calculus Motion Problems


1. [image: image1..pict]At time t = 0 a car has a velocity of 12 m/s and a position of 4 m.  It speeds up with an acceleration given by a = 5t + 2, where a is in m/s2 and t is in seconds. 

a. What is the velocity at 3 seconds?

b. What is the position at 3 seconds?

2. [image: image2..pict]A child’s velocity as a function of time is given by v = 6t2 –24, where v is in cm/s and t is in seconds.  At t = 0 he is 50 cm behind the origin. 

a. Where is he located with respect to the origin the instant he is at rest?

b. What is his acceleration at this time? 

3. A ball is hit straight upward with an initial velocity of 256 feet per second at an initial height of 4 ft  The acceleration of the ball is constant at –32 ft/s2.

a. What is the velocity as a function of time?

b. What is the height (position) as a function of time?

c. What is the velocity and height of the ball at 2 seconds?

d. At what time does the ball reach its maximum height?
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e. What is the maximum height reached by the ball?

f. At what time does the ball return to its initial height?

g. What is the velocity of the ball when the ball is 884 feet above the ground? 

